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@ 900 || FWSC wvs Erba E)E) J\BKIEE vs  HBF B8R
@| 940 || SAKAI vs BHHR BR BERH  vs R E)E]
@| 1020 || FWSC wvs BB B8R J\BXIE vs R B8R
@| 1100 || SAKAI vs =RBEEB B8R BRH  vs F0% ELE]
©| 1140 | XBBE vs Erba BE R vs BT B8R
®| 1220 || *BEER vs BOPR BR F0 Vs R BE
@ 1320 A-1fi1  vs B-1fiI B8R C-1fiz  vs D-1fi BH
1400 || A-2fi1  vs B-2fi B8R C-2f1  vs D-2fi B8R
@ 1440 A-3fi1 vs B-3fI BR C-3fi1 vs D-3fi EE)
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@ 900 4% vs HESK#H EI= GROWUP  vs £ g4l EI=
@] 940 (|AXKB/\K vs % BR UEE s B B8R
@] 1020 495 vs  FIRM BE [|GROWUP vs TSK=EfEI B8R
@ | 11:00 [|[ZKB/\K  vs mafc BR UEEH s 1=3:5 B8R
G| 1140 | FESK%t vs FIRM B8R BB vs TSK&H BH
® | 12:20 Fafc Vs % BR (=45 Vs BE B8R
@| 1320 E-1f1 vs  F-1{ BR G-1fz vs H-1fu B8R
1400 || E-2f1 vs F-2fi B8R G-2f1  vs H-2fi B8R
©| 1440 E3f1 vs F-3f1 BR G-3fz  vs H-3fi B8R
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